EE 475 Fall 2006 Quiz #12
Name:





1. Match the following controller transfer functions with the correct names.

a. 5




1.   Lead

b. 2s+10



2.   Lag

c. (10s+1)/s



3.   lead-lag

d. 0.1(s+10)/(s+1)


4.   P (proportional)

e. 10 (s+1)/(s+10)


5.   PD (proportional plus derivative)

f. (s+1)(s+10)/s


6.   PI (proportional plus integral)

g. (s+1)(s+100)/(s+10)^2

7.   PID (prop. plus int. plus derivative)

h. 10/(s+10)



8.   None of the above

2. When the root locus does not pass through the desired region for closed loop poles, what type of lowest order controllers should be used? 




3. When the steady state tracking error needs to be reduced by a factor of 5 while other specifications are all OK, what type of controller should be used? 



























